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EAST IAS ACADEMY

” Entrance Test — 2022
" DURATION : 02:30 HRS

DATE: 10/07/2022 ROLL NO.

feem A der -

> WY weeT g FAT AT B

> et yeat & 3 GAW B

> afeq aAfar gt g

> Fel 110 T I T |

> feY 3 36T & S IRaHT & I R

Instructions To Candidates

» All questions are compulsory.

» All questions carry equal marks.

» Negative marking will not be applicable.
» Total no. of Questions 110.

> Separate sheet is provided for essay test.



FAST IAS ACADEMY

1) U & T 93 AT gIS3Ioled Tollc I gl T
feram T T@T 87
A) IR (3ER)
B) fasrrgy( a=m)
C) e
D) 3oolet

2) T FIRMHT & IR H FAT TET el 67
E) 8o Sed &I A offeldr AT
F) 3v¢ 2001 H $Rd Icd TFATT THelT
G) I TEY SR T &
H) So¢ 9oI ${9OT UsI f43(9oT GreT Hge Blesh
REHR T Ieiia I ISET FFTell [ERR
o el g &

3) ¥Rd & qd HET =g A AR Awer &
e 23 AT 2022 &Y & IAT § SoAd SR H T
ey g7

1. ST HaY T oI & §

2. i\ FE F ATT FAEET 2004 § 2005 T
T
A) 1 B) 2
C) 1,2 D) None

4) H AR @R § ?
1. #ifae e & e
2. §ifgw fawmE & faw
3. Afaw Rew & faw
4. 3reaTicAsw faw & fav

A) 1,2
C) 12,3 4

B) 1,2,3
D) 2,34

5) 3TUdH T ST ATFdAT T GIAURR &2
AT SATRRAT

3T SIATTSR AT

TEHR &FTARR
1% g $r afFa

ffeEr &1 ST

© ® N o O

A) 1,2
C) 13 4

B)1,2,3
D)1,2,3,4,5

1) Where is the country's largest green hydrogen plant
being set up?
A) Depalpur (Indore)
B) Vijaypur (Guna)
C) Bina
D) Ujjain

2) What is not true about late Lata Mangeshkar?
A) Her birth name was lalita
B) She received the Bharat Ratna Award in 2001
C) She is related to Indore
D) She also received Padma bhushan, Padma
Vibhushan, Dada Saheb Falke award & Rajeev
Gandhi Rashtriya Sadbhavna Award.

3) Former Chief Justice of India Shri RC Lahoti passed
away on 23rd March 2022 What is true about him?
1. He belong to Guna district

2. Tenure as Chief Justice of the Supreme Court

from 2004 to 2005
A) 1 B)2
O 1,2 D) None

4) Why Fundamental Rights Necessary?
1. For Physical Development
2. For Intellectual Development
3. For Ethical Development
4. For Spiritual Growth
A) 1,2 B) 1,2,3

C) 1234 D) 234

5) What are the powers and jurisdiction of the Supreme
Court?
1. Original Jurisdiction
2. Appellate Jurisdiction
3. Advisory Jurisdiction
4. Power of Judicial Review
5

Court of Records

A) 12
0 134

B) 1,23
D) 1,2,34,5
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6) Aefaf@a & @ Fia @r 3T &g IR TS

geut & Fefad g2
TTH=IR afAafa
TIHIN T 3T
g e
dR&%s  wfAfa

A) 12

C) 1,3, 4

A w =

B)1,2,3
D)1,2,4

7) AR @fdue & aR # I8 U e G &
‘A Ao IR fAdRer MG TEa T AfeT T@T
&H Teh SToorr 5 7 HIlla A W B 7 ?

A) Sty fAsT B) &. galHdaT
B) w&H AR T D)&. gehTerH

8) YidlcoR [EHR &1 HEl Thad §7?
A) TITERoT B) aifgca
C) TAYT el C) TR T

9) farafaf@a # & fra ARRer e [@ordy &1
TEY ALY T 87
A) fAareT T
C) Yo FATE

B) SfeleT aNEarH
D) Tfa &erer

10) HTITNTOT FEHIT FT T4 HRA & foha o791 & 872
A) 3cdll ARA
B) wdf #IRa
C) ufResr iRa
D) gfaolt sIRa

1) Feafaf@d & @ #la i cgaear & [Qdvar
AT R ?

A THR
afaur $r gafcaar
FoR dfaurs
IdTer dfayTe
gfaaca faenfRer
A) 12345

C) 1,3 4

a ke bdh =

B) 1,2,3
D) 1,2,35

12) A.Y. # TH T Al Fgl T g2
A) Y

B) &rhddG

C) 3oolel

D) gk

6) Which of the following commission is related to
center and state relations?
1. Rajamannar Committee

2. Sarkariya Commission
3. Punchhi Commission
4.

Tarkunde Committee

A) 1,2 B)1,2,3
C) 13,4 D)1,2,4
7) Who gave this statement about the Indian

Constitution that we wanted Veena and Sitar music
but here we are listening to the music of an English
band?

A) Loknath Mishra

B) Laxmi Narayan Sahu

B) K. Hanumanthaiah
D) T.Prakasam

8) What is Pulitzer Prize related to?
A) Environment

C) Architecture

B) Literature

D)Journalism

9) Which of the following female cricketer belongs to
Madhya Pradesh?
A) Mithali Raj
C) Pooja Batrakar

B) Jhulan Goswami
D) Smriti Mandahana

10) Which part of India is related to megalithic culture?
A) North India B) East India
C) Western india D) Southern India

11) Which of the following is not a feature of the federal
system?
Dual Government

Supremacy of the Constitution

1

2

3. Rigid Constitution
4. Flexible Constitution
5

Bicameral Legislature
A) 1,2,34,5
C) 1,34

B) 1,23
D)1,2,3,5

12) Where is the Ram Raja Temple in MP ?
A) Niwari
B) Tikamgarh
C) Ujjain
D) Indore
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13) FreATeNT NI 3NefF Tl & IR A FI1 T ¢
1. #RA o 5 F@UT 8 ol 6FET UG Sl

2. oRd @1 e 48 o oY

3. YUH TUF JUAT HT Yo g37

A) 1 B) 1,2,3

Cc) 1,3 D) 1,2

14) Pafaf@a & R & Far @@ g2
1. ¥R FT Ugell AaIeFH Faleliol Uh oI5
feeelr
2. gl =A@ St Hsen foe &1 yHE e g,
gl & A AR FAFAIROT RERR Yerd  fomar
arar
3. THEE Uis WRR & YA TS Add § oo
G A QRERR el fhar arm
4. SRR & 3@y fFAR SfEAT 9q@ AiEITFR &,
goe USNUT WEHR el fohar Iram
A) 12,34
B) 3
c) 1,3
D) 1,2,4

15) Frfafla # & # T gifere w8 &7

A) are SHifaT - afear
B) Uhd oASTel - T
C) sfaue #Agaca -&F

D) werer aréf - foeat

16) [dd% TER 9dAIG & IR H Sl AT FUA el oTal
27

A) TE BIRTETE & gk faemsr §

B) Ig oradr 3Meifeh 2020 H $TRAT glehr T &
B & & H TS 3gH Qo &

C) &l & & 35 3R fash [EhR e forar
It

D) Jg fAghiest gl ey &

17) JRASHT gl qUEHR 2022 hA el fomar
ar?
A) 3sgd Toolsh
B) #Rar 4T
C) aiaisifer A
D) SH eI

13) What is true about the Summer Para Olympic Games
1. India won 5 Gold 8 Silver and 6 Bronze medals
2. India's ranking was 48th
3. USA got the first place
A) 1 B) 1,23
O 13 D)1,2

14) What is true about the following?
1. India's First Robotics Technology Park New Delhi
2. DurgaBai Byam, who is a prominent painter of
Mandla district, was recently awarded the
Women Empowerment Award
3. RamSahay Pandey is the lead RAI dancer of Sagar,
was presented with the Padma Shri award
4. Awadh Kishore Jadia of Chhatarpur is a prominent
writer, he was awarded the Padma Bhushan
A) 1,234
B) 3
C 13
D) 1,24

15) Which of the following is not correctly matched?

A) Novak Djokovic - Serbia
B) Rafael Nadal - Spain

C) Daniel Medvedev - Russia
D) Ashleigh Barty - Britain

16) Which statement is not correct about VivekSagar
Prasad?
A) He is a hockey player from Hoshangabad
B) He was a key player in the Indian Hockey team in
Tokyo Olympics 2020 as a striker
C) Recently presented Arjuna and Vikram Award
D) Heis a midfielder hockey player

17) Who was awarded the International Booker Prize
2022?
A) Abdul Razzaq

B) Maria Resa
C) Gitanjali Shree
D) Damon Galgut
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18) auter F¥Ud sollger ¥hel UIh &1 AT AT &R
g ?
A) 37T ST
B) TSI

C) ¥a RR™AM™ g™
D) s q F1S AT &

19) ST 2022 ToRTA & AU I AT Hh
SHYCT, ST BIgeTel AT gl T G AT ?
A) w7 &g wfzaa
B) &g AW wefeaxn
C) RIeereard wef3aa
D) a=@s &f3ad

20) feaafaf@a & & #i &1 @ & aRae 1 31X FEr
HA T ?
A) FErich, &@el, egsier,3ARAT Fear
B) fHerieh, ergster,dielt,3afkar #eetr
C) 3aARAT ,weah,RRiel, ergsiar, deh
D) egard, Hel,3ARAr wear, Rl

21) ALY Heer T gEll G S A wieT @ § 2

A) YuIG B) efary

B) 3#&HcHh D) &g Sr&T &7 AT
22) wEr gAferd Hfse

G - 1.9FaTEe

3FHCH - 2.dr&r

AATSIES - 3.9%EC

e - 4 Rz

A) 1,234

B) 4,1,2,3

C) 4,3,2,1

D) 4,2,1,3

23) diemgenr 3R faurasmt F eqgiRa oifd wd
SISTadl $I RETOT I STGTAT HAA: HidA DieT
T Jfede H B I ¥
A) 330 & 331
B) 331 & 333
C) 330 & 332
D) 330 & 333

18) What is the name of Global Skills Park located in
Bhopal?
A) Adi Shankaracharya
B) Ramanujacharya

C) Sant Shiromani Ravidas
D) None of these

19) Where was the final match of IPL 2022 played in
which Gujarat won by defeating Rajasthan?
A) Roop Singh Stadium
B) Narendra Modi Stadium

C) Chinnaswamy Stadium

D) Wankhede Stadium

20) Which of the following is the correct sequence from
east to west?
A) Singrauli, Sidhi, Shahdol, Umaria, Katni

B) Singrauli, Shahdol, Sidhi, Umaria, Katni
C) Umaria, Katni, Singrauli, Shahdol, Sidhi
D) Shahdol, Sidhi, Umaria, Katni, Singrauli

21) Which is the second highest peak of Madhya
Pradesh?
A) Dhupgarh

B) Amarkantak

B) Chulgiri
D) Siddha Baba's Peak

22) Match Correctly

Bharveli -1. Bauxite
Amarkantak - 2. Copper
Malajkhand - 3. Graphite
Betul - 4. Manganese
A) 1,234

B) 4,1,23

C) 4,3,2,1

D) 42,13

23) In which article has the provision of reservation for
Scheduled Castes and Scheduled Tribes in LokSabha
and Legislative Assemblies been made respectively?
A) 330 & 331

B) 331 & 333
C) 330 &332
D) 330 & 333
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24) 3fe gl I adA FONT AT § 17 T
FfOh Gl @ gHA ofF o, HYT W@ W@l
aEJ FT AR gl Srwam?

1. 3=
2. Y=
3. HREIAAT S FUf 3cueat g Sirwer
4. & HT AR Af&hdH g Sean
A) 1,23
B) 1
C) 2,3
D) 1,4

25) gTssifors 9@, grssifers fored grssifos o anfe
ra Rgid W & #&d § 2
A) SRS Rgia
B) 9rEshel T fAgid
C) e & I&carhyor fgia
D) S8cd & fogs o

26) T dlelh T ATAdPIT alleleh &l oldls §gld U
FIT JHE I3IMT?

AP §G ST

3TadhIe T ST

3addIeT Ad g STeaT
3MTacihTel Y= 8 ST

A) 1,3

B) 1

C) 24

D) 1,4

hown =

27) 3 A fOEd goacla & Th SIS TSR
&1 ygfed gidr & ,eed § ?
A) 3F
B) &R
C) @ur

D) &+ & FIg AT

28) RS I IMET Tellel aTel SBART HI ST el
fow gicrd gary &l €@ sifafsear & g faar
ST 87
A) HER AH
B) dielam®
C) 2arg TARelvuT 3Fal &R 3fAfeRar
D) g&# & +I$ el

24) If the earth starts rotating at a speed 17 times more
than its present angular speed, then the weight of
the object placed at the equator will be?

1. Infinite
2. Zero
3. A state of weightlessness will arise
4. The weight of the object will be maximum
A) 1,23
B) 1
C) 23
D) 14

25) On what principle do hydraulic press, hydraulic lift &
hydraulic brakes work?
A) Archimedes principle
B) Pascal's principle
C) Newton's theory of Gravity
D) On the Law of Inertia

26) What will be the effect of a simple pendulum on
increasing the length of the time pendulum?
Periodicity will increase
Periodicity will decrease
Periodicity will be infinite

A wnNe

Periodicity will be zero
A) 1,3
B) 1
C) 24
D) 14

27) The compounds which have tendency to accept one
pair of electron are called?
A) Acid
B) Alkali
C) Salt
D) None of this

28) Which reaction is used by the police to check drunk
drivers?

A) Quesco graph
B) Polygraph
C) Breath analysis acid base reaction

D) None of this
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29) @ 3cdA SUA HiA AT AT SATAT g2
1. TSEH JIThicT q9d HA &l
2. g it TEar e 31w
3. ST 3Twie Ted 3ifas gt
4. fS@dr e TEAT I FHA g
A) 14 B) 1,2
C) 2,3 D) 2

30) arsfacy foaat & Ui &ld- dlT & dcal fr FAr @
EIcIN
FierasdT
3RRA
qrefrgs
oz
ST
A) 1,23
B) 1,2
C) 1,25
D) 1,3,5

a bk~ wbh =

31) so1s ST & T Fid AT HUA T g7

A) Fo B wedad # TR & F v
foreiRT &1 &d gg & Jerd §

B) & fUaET veded & Sgak &l & fovw 3=
O U g 9o & @d F &I F qST &

C) o fEemd yedel I Jgek ot & fAv F@ey
AT &7 A TG T TGS §

D) 3uded @it

32) PEfaf@a & @ &ia S 3w 8 &
A) TENTETH & TSl
B) Tarem
C) el gRa Aarer
D) sf&rerd yRafavafas

33) HRA &1 HleT AT A ALT IW@T & Foad 987 H
g?
A) FURART
B) &haedl
C) 9ic selX
D) e gdia

29) Which is considered the best fuel?

1. Which has the least detonation
2. Which has the highest octane number
3. Which has the highest detonation
4. Which has the lowest octane number
A) 1,4 B) 1,2
C) 23 D)2

30) Which elements are often deficient in pregnant
women?
1) Calcium
2) lron
3) Potassium
4) Sodium
5) lodine
A) 1,23
B) 1,2
O 1,25
D) 1,3,5

31) Which statement regarding blood doping is true?

A) Some players themselves transfuse the blood of
teenagers to improve performance

B) Some players transfuse themselves with blood of
older age group to improve performance

C) Some sports persons themselves transfuse healthy
human blood to improve performance

D) All of the above

32) Which of the following is not an organic fertilizer
A) Rhizobium & Azotovector

B) Azola
C) Blue green algae

D) Bacillus thuringiensis

33) Which place of India is closest to the equator?
A) Capcomorin

B) Kavaratti
C) Port Blair
D) Barren Island
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34) feamen fdar fora FAgRR & 3afeyd g7
A) 3cdifcd AFENR
B) fée Hg™mR
C) welid #AgRIRR
D) 3hfceh HAERARR

35) ey Aol fohe qddATeT T 7T g7
A) Fagst
B) 3RIdelr
C) feamrer
D) $8 ¥ #Ig et

36) HUTH Ud AIE fha AlGA AT BHel § ?
A) @&
B) @i®
C) Sae
D) 8# & &I oAgr

37) sl WOR & HfUSaH AT fora g Fr fAerd
g7
A) &
B) Tghet
C) ol
D) geaniar

38) R & qdl de W IfUhdd awl &id & AT
d g g ?
A) eferor- aiRes AT
B) SccR-gdl AT
C) ufegs -faafist
D) HAETgA- qd ISt

39) d=iffor waT] Rueex fawmre e af gam ur?
A) 1984
B) 1986
C) 1985
D) 1987

40) ag 1§ HleT &1 ¢ Forw, galey aiRes & 3R v
TIAET 9 T AR g 82
A) ufa
B) 30T
C) a&ur

D) seeufd

34) In which ocean is Diego Garcia located?
A) Atlantic Ocean

B) Indian Ocean
C) Pacific Ocean

D) Arctic ocean

35) The Kaimur range is a part of which range?
A) Satpura

B) Aravali
C) Vindhyachal
D) None of these

36) Cotton and Soybean are the crops of which season?
A) Rabi
B) Kharif
C) Zaid
D) None of this

37) Which country meets the maximum border with the
Black Sea?
A) Russia
B) Ukraine
C) Turkey
D) Bulgaria

38) Which monsoon receives maximum rainfall on the
east coast of India?
A) South-West monsoon
B) North-East Monsoon
C) Western-Disturbance
D) Pre-monsoon rain

39) In which year did the Chernozym nuclear reactor
explode?
A) 1984
B) 1986
C) 1985
D) 1987

40) Which is the planet in which the sun rises towards
the west and the sunset towards the east?

A) Saturn
B) Uranus
C) Neptune
D) Jupiter
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41) ¥Ra & g8 e fagel caur fea Sor & grar
g2
A) TIFT TT IARHT
B) o
C) famgx
D) @gFd 3R 3HRIT

42) ALT Y & IR H FIAT el el g ?
A) ALT YA F NG 3cUleet A A T &
B) ALY UG F WGITewl UGl H Giadid Tl
g
C) ALY YC F TAT UF Golged 3cUlGed H TUH
T &
D) ALY YT H TIAET 3cUCA & TUH TAT ¢

43) 7T # frccaddl W AR W@ & fauw g &1
UgolT fohtel Y g3 IC15 fhe & o fohar?
A) Cryptos
B) Cryptowire
C) Crypto organisation
D) FICCI

44) TAFATITET H & HleT a1 T 87

1. 9dcs H FoIdT &f & fov aRa o Arecfor
o gHgitar & &

2. 3uer AR geue A HgAET ¥ scel @
qHgilar fhar &

3. yfaee & &7 # WA g HRA A TH
qagiian far §

4. el rfegaedr g #RA & Wi § FHESAA
faar &

A) 123

B) 124

C) 1

D) 1,3

45) &g AT IR HATRI G@RT HeARam Trofell &
FTaTS ¥ FAOT Hied AT VT 7 fFAOT fRaw
g7
A) ¥ 0q
B) werfa v
C) ¥R vg
D) @lehdrel U9

41) From which country does India's maximum foreign
trade happen?

A) USA

B) China

C) Singapore

D) United Arab Emirates

42) Which of the following is NOT correct about MP?

A) MP is the second largest producer of wheat

B) MP is the second largest producer of foodgrain.
C) MP is the largest producer of Chick pea & pulses.
D) MP is the largest producer of soyabean

43) Which of the following has launched first crypto
currency index IC15 in India to have an eye on crypto
currency trading?

A) Cryptos

B) Cryptowire

C) Crypto organisation
D) FICCI

44) Which of the following is correct?

1. India signed an agreement with Australia to
promote tourism.

2. India Signed agreement with Italy to cooperate
in disaster management.

3. India signed agreement with Russia to cooperate
in the area of geology.

4. India signed agreement with France to promote
blue economy.

A) 123
B) 124
0 1
D) 13

45) Which of the following App has been created by
central Ministry of Rural development to implement
MNREGA related programs?

A) Garud app
B) Pragti app
C) Sarthi app
D) Lokpal app
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46) TIfaf@a & & Fi9 a1 T8 §, IRd TWHER Hr
ASTATT F Tl & ?

1.f%amEt T 3T Y ST B FT e T - 2022
2.9R T HAARIT HoFd Fellel T &7 - 2025
3.HRA A Al HFT U T FT oI&F - 2030
4.100% gafFesh desd A & & - 2035
A) 123 B) 1,2,4
C) 1 D) 1,3

47) #ARST A9ST & IR H FI7 TET §
1878 AR egeide Tl Tood QEHR 2021 Yered
R arar
237¢ ¥Rd WIHR SART YeH 30T QERR el
foRar Irar
3.7% g & §

4 37git rdr Meifue & Safos O & ool uew
ureq fohar ar
A) 1,23
C) 12

B) 1,4
D) 1,34

48) A3 R I FIAT §
A) HATHT gHalT
B) @mSsR Fifehar
C) fordl IS¢ g@RT gEY ST & &YX Acasd H
gER I J FdeAMer TUT AT FAT 3MeT
HI A FLAT AT Acdh IR DI qIAT HEAT
D) srer fesforer

49) gg IR S TH FI&T TA AT A GordT
dAcad W AA-SA H Th fAHSRd STRH AR
I &, FEecl &2
A) ST FR
B) wRRETel
C) scledsl daheiel
D) 3frdfefrehereT

50) fArtfaf@a & & Sl & Naicd JA9T 39T Jau
& e H frar Srar § 2
A) TR
B) ST |

B) 3iRT
D) safd=r e

46) Which of the following is correct, With reference to
the schemes of the Government of India ?

1. Todouble the farmers income Target -2022
2. Tofree India from Malaria target —2025
3. Tofree India from TB target —2030
4. 100 % electric vehicle target -2035
A) 1,23 B)1.2.4

Q) 1 D) 13

47) Which of the following is not correct about Neeraj
Chopra ?
1. Awarded with Major Dhyanchand Khel Rattan
Award 2021
2. Awarded with Padam Bhushan Award by Gol
3. Heisfrom Haryana

Won gold medal in javelin throw at Tokyo

Olympic
A) 12,3 B)14
B) 1.2 C 134

48) What is cyber war fare?

A) Cyber attack

B) Cyber stocking

C) Stealing of Secret and sensitive data by a nation
by entering another nation's computer network or
to destroy data or disrupt network communication

D) Data didling

49) A technology which prepares a secured and easy
network for transaction of a decentralised database
is known as?

A) Proxy server

B) Firewall

C) Blockchain technique
D) Authentification.

50) Which is the following robot is used in disaster

management
A) Pioneer B) Aura
C) Babot D) Ibsina robot
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51) $-cllhdd & 3IMT g, SABRRGT Falddiol Pl

39T -

1. 9RGRIAT SgmT

2. SO« &Il SqlT

3. onit i HAeEfiey W SR A8 & §

4. AfaET @ 3ieTelSd  TEIAHOT,  HFAAST
RIepIrd [AaRoT U9 $-sTHd I8 &

A) 1,2 B) 1,2,3

C) 1,24 D) 1,2,3,4

52) Dynamic a9 91 & e & fov fra smwr &
39T fRar AT 87
A) XHTML
C) PHP

B) XML
D) HTML

53) TOO App & IR H &1 TEr ¢ ?

1. FTSH SN ToICHIA &

2. A H Tgal AW INUIRA Tolewd S IR
AR T3t & soieh for@ey 1 FadFar aae

3. 3Hh TEUYS HOUAAT TUTHSUT §

4. 3W AR T STCAH Fgl ST ¢

A) 1,234 B) 1,4

C) 1,23 D) 1,34

54) Unstructured supplementary service data T&
ar g7
A) ac dfFa
B) Aarser dfher Jar
C) WIgsR {aT {dT
D) § &fSar @ar

55) GYSTdRT & IR & AT TET AGT &2

IE §STUT TS IONTT & HTo forel 7 IafeUd §
gHET @it S.R. UG o Fr oA

TET Th Wl H Al

TGT W STl Jaee dI 3T cgaedr #r 75 §
g & F g it g F enfaa fRar
J

A) 23
C) 2

a bk wbdh =

B) 1,4
D) 1,34,5

56) eAfaf@d & q HieT a1 TE AT § 2
A) TET - Hia
B) 3cak H&AMT - SATHAT
C) =ar - aitas
D) 3=+ - FoTe

51) In the
democracy means?

sphere of Information Technology, e—

1. Toincrease transparency

2. Toincrease accountability

3. Not to force public participation

4. Online presentation of policies, online complaint
resolve and e- referendum

A) 1,2 B)1.2.3

C) 124 D)1.2.3.4

52) Which language is used in the development of
Dynamic web page?
A) XHTML
C) PHP

B) XML
D) HTML

53) What is not correct about Koo App?

1. Micro blogging platform

2. Country's first language based platform which
gives freedom to write blocks in four Indian
languages

3. lIts founder is Appamaya Radhakrishnan

4. ltis called instagram of India

A) 1,234 B) 1,4

O 1,23 D)1,3,4

54) Unstructured
Service?
A) Net banking
B) Mobile Banking Service
C) Cyber Security Service

supplementary service data is a

D) E- Trading service

55) What is not true about Dholavira?
1. This Harappan site is located in Kutch district of
Gujarat
It was discovered by S.R. Rao
3. Found Playground Here
Proper arrangement for water management has
been made here
5. It has recently been included in the list of UNESCO
A) 2,3 B) 1,4
0 2 D) 1,3,4,5

56) Which of the following is not correct
A) Sankhya - Kapil
B) UttarMimamsa - Jaimini
C) Nyay - Gautam
D) Vaisheshika - Kanad
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57) eafaf@a & @ sl Tgr g ?

1. Ipidare - 9§ ®uar & fagia
2. §FgH AT - T # eara
3. TeaTg - TeTaT # RAgid
4. GFEIH JTROT - @Re A & 3cde gu-
g@ & 9fd wHeT
A) 4 B) 2,3,4
C) 1,4 D) 1,2,3,4

58) ARFTolg @ fhE TSYT TS F HIT FEY AT
asT?
A) #FaE

C) Turask D) facdlsae

59) ‘3d# R ATH IR fhasr Toms ofi?
A) 3haT B) SERIR
C) 3iRerae D) emgstel

60) G- T -ohig T oY ford fagig & g2
A) e fagE B) =fer fagle
C) Tuter fage D) & e

61) frafaf@a & & frasr @Y 3T av ¥ §
1. #8ey 3Fass

2. oW SBAFAES
3. FART FART HleeT

4. gTS3IoTeT FARSS
A) 123 B) 1,4
C) 1,2 D)1,3,4

62) fheel HRAT TS HEH W 367, faag 3R
ORI &7 TSI T a1y o9maT o7 ?
A) STel IETTAeR
B) dTelTelTead I
C) 3Rfdar
D) wa.d I

63) 2011 T SIUEAT & AR HEIUGA H 29 3R
Afgell TERAT & T fhdal 1 3R UT?
A) 19.53% B) 20.53%
B) 10.53% D) 9.53%

57) Which of the following is correct?
1. Anekantvad

Theory of Polymorphism

2. Right Knowledge Belief in Truth

3. Syadavad Theory of Relativity

4. Right conduc - Equality towards happiness
and sorrow arising out of

worldly matters
B) 234
D)1,2,3,4

A) 4
O 14

58) With which Rajput Raj did Aurangzeb have to fight
hard?
A) Mewar
C) Ranthambore

B) Marwar
D) Chittorgarh

59) Who ran the jagir named ‘Altamaga’?
A) Akbar B) Jahangir
C) Aurangzeb D) ShahJahan

60) Daman-i-Koh is related to which rebellion?
A) Munda Rebellion B) Nil Rebellion
C) Santhal rebellion D) Naga rebellion

61) Which of the following is related to acid rain
1. Nitrous Oxide
2. Sulfur Dioxide
3. Chlorofluorocarbons
4. Hydrogen Chloride
A) 1,2,3
C 1,2

B) 1,4
D) 1,34

62) Who blamed the Indian National Congress for the
politics of persuasion, modesty and protest?

A) Bal Gangatilak
B) Lala Lajpat Rai
C) Aurobindo
D) S.C. Bose

63) What was the difference between male and female
literacy in Madhya Pradesh as per 2011 census?
A) 19.53% B) 20.53%
C) 10.53% D) 9.53%
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64) ALY YU H TAIAT T dAYA AT w9 @
eI §3T?
A) 24 ST 1994
B) 25 =il 1994
C) 1 ®adr 1994
D) 25 3m¥er 1994

65) frfaf@d & ¥ Fa @ gafoa =& &

A) AFAT ST - 3GANT TF AR
B) item Sirefy - Rafecas
C) ol &t - AFerT
D) #ger erAT - HIgedhR
66) fietTli@d & ehler TEr Ao g2
1. #egar - SUorEs
2. TS T - geords
3. T - HTerdr
4. IFAT - AT
A) 124 B) 1,4
C) 1,2 C) 1,234

67) ALIUCY H AU AWINT & ol T Godcd Fel
qrIT SATAT 87
A) FREE T=gslia JFIROT
B) aRY geIeild 31$IROT
C) el 3FIROT
D) AR o Sfid HEIROT

68) Ffaf@d & & FiA dad AT TgIFH gl §?
A) faor B) sard
Cc) @y D) gradr

69) SlaX STl T & IR #H AT TET 87
1. UE Il PR AR aifecs AFR & Sisdr &
2. 9§ W9 ¥ Yses fhesA foead &t 3vemer

A &
A) 1 B) 2
C) 1,2 D) None

70) §H UE 3T STody 1 Gy fhe 3¢ ¥ §?
A) T e B) &7 3T
C) ¢ 3¢@eT D) &Erel 36T

64) Since when the Panchayati Raj Amendment Act came
into force in Madhya Pradesh?
A) 24 January 1994
B) 25 January 1994
C) 1 February 1994
D) 25 April 1994

65) Which of the following is not correctly matched
A) Neminath Jain - Industries and Trade

B) Lilajoshi - Doctor
C) BuriBai - Painting
D) Mahesh Sharma - Literature

66) Which of the following is correctly matched?
1. Mansukha - Baghelkhand

2. RaiSwang - Bundelkhand

3. Khambswang - Malwa

4. Gammat - Nimar

A) 124 B)1,4

C) 1,2 D)1,234

67) Where is the highest density of teak forests found in
Madhya Pradesh?

A) Nauradehi Wildlife Sanctuary
B) Bori Wildlife Sanctuary

C) Cane Sanctuary

D) Ratapani Wildlife Sanctuary

68) Which among the following is not a tributary of
Chambal river?

A) Kshiprab
C) Sindh

B) Banas
D) Parvati

69) What is true about the Dover Water Treaty?
1. It connects the North Sea and the Baltic Sea
2. It separates the United Kingdom from Europe

A) 1
C) 12

B) 2
D) None

70) With which industry is the semi temperate and
humid climate related?
A) Sugar industry
C) Jute Industry

B) Clothing Industry
D) Paper industry
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71) 9R <afad 9RE & e Toa] & aEr & W© &

39 fRFEsTsmaT @ TuE & Qv 5y WA e
A) 3OS USRI ST aTel egfFd hl

B) 3THH Silel dTel ogied &l

C) BT St arer safad &

D) 32/ T e dret afFd @t

72) U Seifdge ¢of GIAIOT ¥ 3cd ol IR ST Wl &
3T YITRE feem & S ?
A) cfaror fgem & B) 3cax feem #
B) o fgem & gar I WY & D) 387 & FIS 6l

73) aTef W el ATa R ERIT oot arel g &l

FIAT YHTT BT &7

A) o Bl T Jerem A, @3 g hr Pufay &
s

) o @ A Jelel H, @3 g i ufy 7w

) @SR AT e Bl B RUfy F v wE

) T & @I @3 @ & Rufa d 38w 3k
Td & AT ¢ gl o1 Tufa & &

OO0Ow

74) QUAD- faeafaf@a & & i a1 I T § ?

1. QUAD-HI T HT HET FROUT HFd, Gell
AR "Hqg geaid gARTT T ar

2. QUAD- 3aR&r siIRa s 3R sieeforr &
drg ol gerd &9 A O & 8 g gId &
Sfa®T & ®9 # T FIET AU §

A) 1 B) 2

C) 1,2 D) &Il gl

75) THET AT & R H a7 Sl ar

FYA T FET ¢ ?

A) g gfEroflt aerg & et sgdr &

B) IE giayol aMong 937 ofed va fEeRar & Jgdr
g

C) s fgem AR ak W gf@ofr aemy &
IeR-afRad & gfaor qf & 3T g &

D) ARA & ISURN 5 foel IRSIAT dATer@r
gan3it & ART 7 gsar §

76) Ffaf@a & & Sl a1 YT TE & ?
1. IREeX & {oork ¥ A arer Ao gBd

27 AR ¥

2. 3cR-gfauT IATAART & 44 T AT §TSA gl
I Y

3. Y9-uR™H Td ek SfAIoT AR dAqR A TR
gaY &I Fed §

A) 1,2 B) 1

C) 2 D) 1,2.3

71) Four persons are traveling to different states of
India, whom would you advise to avoid snow storm?
A) The person going to Arunachal Pradesh
B) The person going to Assam
C) The person going to Tripura
D) The person who goes to Orissa

72) An electric train going from South to North in which
direction will its smoke go?
A) In the south direction
B) North direction
C) The direction in which the wind is blowing
D) None of these

73) What is the effect of pressure exerted on sand

during a human body?

A) More in a standing position than lying down

B) Less in standing position as compared to lying
down

C) Same position in standing or lying down

D) More in the standing position during the day and
less in the lying position during the night

74) Which of the following statement is true about

QUAD

1. The main reason for the establishment of the
Quad was to ensure a free, opened and
prosperous Pacific

2. Quad America is a security alliance between India
Japan and Australia as a counterpoint to China's
regional supremacy in the Asia Pacific region

A) 1 B)2

O 1,2 D) None

75) Which one of the following statements is not true
about roaring fourties?
A) It flows uninterrupted in the

Hemisphere

B) It flows with great force and stability

C) Their direction is generally from North West to
South East in the Southern Hemisphere

D) New Delhi, the capital of India, falls in the path
of the thundering roaring fourties.

Southern

76) Which of the following statement is correct

1. National Highway connecting Porbandar to
Silchar is number 27

2. North South Corridor has been called 44th
National Highway

3. East West and North South Corridors cross each
other at Kanpur

A) 1,2 B)1

B) 2 D)1,2.3
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77) fAaTasT A@ATEer %G9y # fArafafaa & ¥ @i

AT FUA TEr g7

1. 9% Ul fAdosr &9 Tt |erRor
T ATATEST gl &

2. 4, #A qU, S, folor a1 s @ fndr v
& FUR W Hlg Aad fAaraes AAEGen H
afFafaa e o= & fav 3moa 78 §

3. 9Rd FT g ARG o A T HF 18 a¥ Hr
HY &1 AT SHA H®F § HUA FAdG I
Thel § 59 oo o gall dAfId faursse &
Rl RAfr & reha 39 Pswf@a =8 e ar

ST &
A) 1,2 B) 1,3
C) 1 D) 1,2,3

78) Hala Fll & IR H FAT WE & ?
1. ¥ T8 &t & @R Sfel & 910 Srd &
2. B! SIS STeT HA gl & Ul $e¢ Hadl aef o

el STl &

3. 2021 &1 RUIC & 3IFER 3ywey & Hag
aoit #F weifas Ifg & ¥

4.  gAHAE @I A §

A) 1,24 B) 1,2,3,4

C) 1,2 D) 1,34

79) 1 R & fFaer ofiex g &7
A) 150 @ex B) 51 &eX
B) 159 eoliex D) 189 @ieX

80) gedr 1 argFsd FAefafld # & Aeadd: fFas
CanT dcd gidm 8?
A) o T | fafRor
B) &r& a¥er g @k faevor
C) Wrafdd dikv faeor
D) gt &R fafeor

81)s¥urd 3R &g & FT ol A FuH & fow
efafaa & O Faer g &a g7

ST T WA Ter & &

Je A I &

AT & srer 3T &

oA & 3ex M3 & §

HiNRIe Hr T Tea §

A) 1,23 B) 1,2

B) 1,2,4,5 D) 1,2,3,5

ok~ w0 =

77) Which of the following statements are correct
regarding the electoral roll?
1. Every territorial constituency has a simple
electoral roll

2. No person shall be ineligible for inclusion in the
electoral roll on grounds of religion, race, caste,
sex or any of them.

3. Any citizen of India who is at least 18 years of
age or above may cast his vote unless he is

expelled under any law of the appropriate

Legislature
A) 1,2 B) 1,3
O 1 D) 1,2,3

78) What is true about mangrove forests?

1. They are found in brackish water in coastal areas

2. Their roots are root And they are also called
Sundari forest.

3. According to the report of 2021, the mangrove
forests of Andhra Pradesh have increased the
most

4. They protect against tsunamis

A 124 B) 1,2,34

C 1,2 D)1,3,4

79) How many liters are in one barrel?
A) 150 litres B) 51 litres
C) 159 litres D) 189 litres

80) Earth's atmosphere is mainly heated by which of the
following?
A) Short wave solar radiation
B) Long wave terrestrial solar radiation
C) Reflected solar radiation
D) Scattering solar radiation

81) Which of the following is used to prevent rusting of
steel and iron?
1. Zinc plated

Just paint

Put in kerosene

Bury it in the ground

vk wN

Magnesium coating
A) 1,23
B) 1,245

B) 1,2
D) 1,2,3,5
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82) 3 T qford ISR §1 v FAST HT AT
# Ay g mar ¥ 3R Redert & oerar § &%
gHeT fSFACR Sidex §1 3 giad fRar ST §
fF RedeR sfFer W gHeT & W &1 3T
FEN?

A) EHAT FATCT gl b YcaT &iar

B) qed 3RUdel Ugddl 3R RRAERT #1 siFey W
EHAT el I Jehar

C) 3= aRvs AR & AT HEr AR g
Hr gAreT HEr

D) 3uel el I $© GAY oG AT HT GRT
T & foT Fgar

83) 39 U sl 39Tl & SieFe &1 39 grg var
TS I & @ g o org v AT gRaT
gl 3ush wgAPh o W@ Wl & v e
AT ITed & off foh aeda & 3maeye g &1 39
FIT FHGr ?

A) 39 FEarel I adietor & faw 3meer @ regAfd
&ar

B) 3Uell R% & Fo 3R Gleioil & geira &3

C) 3usl Hgdlel i At & Fo IR H FH a
&ar

D) Had 3aTh GAET0N & forw 3meer &ar 3R 39er
IR @A AT I FIHEIRAT h GfT
HacaTelel Feran|

84) 39 IR A9 & e AR &1 e WY,
WIS & $© TIAaH o T ey # Ry
A §, WR 3ege REell & dgd 9w
AT FET STl 3T AT HEN?

A) TadHaH! & TTeTh HOR Hiefell HIIATET BT
B) Taa@ashi & el iR FHEeder fh Al o
FT 3TEeTH & IR qEvedr egAfT & &I
C) ¥adqaert & TSR H HE F qddd Ha Hr

FEN
D) W& ¥ufed & AFT aa & IRT A &I
Yashi & AR T

82) You are a police officer. A patient has died in a
hospital and the relatives think that the doctor is
responsible. You are informed that the relatives are

attacking the doctor. What do you do?

A) Wait till the attack is over

B) Immediately reach the hospital and stop the
relatives from attacking the doctor

C) Report to your superiors and wait for orders

D) Tell your subordinates to visit the hospital after

some time

83) You are a doctor in a private hospital. You get a
patient who has insurance cover up to a few lakhs.
Your colleague wants to order some tests which are

not really necessary. What do you do?

A) Allow your colleague to order the tests

B) Suggest a few more tests of your own

C) Reduce a few tests from your colleague's list

D) Order only the necessary tests and sensitize your

colleague about the need for doing so

84) You are an official in the municipal corporation.
Some volunteers of a non-governmental organization
have painted one of the schools. However, they have
not taken permission from you before painting. What

do you do?

A) Take strict legal action against the volunteers

B) Meet with the volunteers and explain why
permissions are necessary and give retrospective
permission

C) Ask the volunteers to undo the painting.

D) Arrest the volunteers on charges of defacing

government property
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85) 3T Teh WHRI AUHRT gl 3HTh IW TAT

TelAas €

& AN YA TS FHAET FHT

meimmmmm%m
3 3% oIdl Pl ST ol T Hell R f&aml 3T
FIT HLI?

A)
B)
C)

D)

39 ARl & v &1 gHdT FiEr 3R 39T
TUTATAROT AGT T

AN T TUACROT F &I dlieh ASTilicieh e
3mash foIv FqHAEd o Y1 W

YT FEARN @ TE W I FH Fgal HR 3FHr
amﬁaﬁﬁﬂa?ﬁﬁra?a?ﬁma?rtrﬁm
ﬂﬂa?ﬁmm’rafrsva—q’ﬁé?aﬁﬁqﬁa
marﬁxrm?hﬁamgam

86) AT Teh TIHRT ISR §| 3IH 3o o 318
(RTI) sfafaasd & dadia o =l Al g
¥ U R ¥ WY e #EE are
afFd & Sed § AR AT 3meaEd §1 F Ay
I geadeT fohar SR 3T AT HI3N?

A)
B)
C)

D)

T SASRY o 3 & foaT T 3u1g géar
SATARRY & &ar

TAd SR S Al 3Hh gRuder  #r
FEATTAT T HF T HA fhar 7 T

SR ol & et T9T & T 3dell o3 didl

87) 39 UH HUsil Hi FAGHR INYE & TGET g,
S Ovg v Rea g WE 718§ Ty
TR e F 3R dzueawr gfRfa &1 e
HEET a7 AT &1 379 FAT HE?

A)
B)

C)
D)

AfATY &1 HHA TR F & Ugd TRV @
HeTIaT ¥ IHEYT & &

fgdl & <ohid & galem &d §C @AfATT &
HETIAT ITAHR HT &It

39ded fashedl & & (A) 3r4ar (B)

afafa &1 aeeaar & TeER FET afe afafa
$r RAE Ul & Iregehel @

88) ARA FI IR Foil The FI THT T IS T&T
g1 gaTaRor geely At & gastar e e s
HhC FT ATHAT el & [T PR & THLT TaH
3<oT AFeT & 2

A) @ET F TEAT THT & T U8 Fed Fir

AT &ar
B) TR Serelt @Y a2 @ & TR AT S

C) el & el & aR & Rar fee foar

D)

oI )

Wﬁﬁﬂmﬁﬁmm
Al @ 3R 3fUF Sietel SR & IuANr iy
AT S

85) You are a government official. You are getting
pressurized by some local political group to transfer
one of your subordinates since he has refused to
favour their leader for a contract. What do you do?

A)

B)

)

D)

Stand by your colleague's decision and refuse to
transfer him

Transfer the colleague so that the political group
does not create trouble for you

Ask your colleague to go on leave and favour the
political group leader in his absence

Inform the other political groups of this pressure
so that the political pressure is removed

86) You are a government official. You are asked some
information under the RTI Act. You believe you
know the person who has asked for the information

and you are also convinced that the information will
be misused. What do you do?

A)
B)
)

D)

Find way of denying the a information

Give the information

Give wrong information so that the possibility of
misuse is minimized

Delay in giving the information as much as
possible

87) You are the advisory council member for a company
against which a complaint lodged. The local is

municipal corporation has made you a member of
their fact-finding committee. What do you do?

A)

B)

)
D)

Resign from the council membership before
accepting the committee work

Refuse to accept the committee membership
citing conflict of interest

Either of the options (A) or (B) above

Accept the committee membership so that the
report of the committee is favourable to the
company

88) India faces severe energy crisis. In order to meet this

crisis

without compromising the environmental

concerns, the best option before the government is to

A)
B)
)

D)

Allow people to cut trees to use for cooking

Go for large area installation of solar panels.

Go for nuclear energy without worrying about the
nuclear safety issues

allow people to use more diesel generators
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89) T hfedd & I T ¥ 3@ 7 WA g§ FN
T ISTECAA o oT| WEM 3R S & Tol, °
387 30 YPR ¥ 3} four- daecesd aFs #
IR 38R AR o 3F g1 9go o W8/ AFaR A
gifeame 3R Afeam 39 38R TF @ IUSOT
F g &1 Fefr 37T I INT e 9 20 37T §
3R gger ar 3 # AT 3 B AU AR §.

A) MP12AT5435
B) MP12AW5345
C) MP12EN3456
D) MPO3EN5435

90) Wl FI UicHTed A & foiw, el gmded
qET oot 3R RITI 3qTHT T IR F H
oot foram| saer 717 § f

A) 3R T &

B) dieT, 3atal & TFA &

C) gd-# oer Welr udie ot &
D) sga & 9T Yl BIsHT o @ §

91) oemsTer T gof T WHRT & Isgredsd o7 CO2
3cHolT A HH I & [T dedld UgdT Hlel hl
oty forar § 9 319 d% 3o I weAl &
S IRMH AT el | I§ g2 & &

A) 3T H IS FHeH AT 31T AT

B) 3fchd # forw /& e Sgd 3 &

C) 3 CO, 3cHolel & &HROUT FaAldh agd R &
T B

D) 3rdld & CO2 A& A 3cHold & FRUT S
TaATdr

S

92) #A Agccaqul &, Afher EWE A e 3R s
Agecaqut ¥ 3=gar, A TH SF g S P
gHh! dread ¢ %

A) ¥gad ¥ AT g TiiRe.

B) #r gaerm 3rdy gt ¥

C) afg e AT «d fAeq, o 5w 3T ¥ &
S AT A 8

D) & gaer v areT g ¥

89) A person asked his friend about the registration
number of hist newly purchased car.
answering directly, way-The
registration number has four alphabets and six digits.
The first two alphabets represent the Member of
Parliament and the last three alphabets represent a
writing instrument. The sum of all the digits gives 20
and the sum of the first two digits is 3. The
registration number is.

A) MP12AT5435
B) MP12AWS5345
C) MP12EN3456
D) MPO3ENS5435

Instead
he answered this

90) In district

administration decided to supply free seeds and

order to encourage farming, the

subsidized fertilizers. This means.

A) The fertilizers are cheap

B) Seeds are cheaper than fertilizers

C) Many people like farming

D) Many people are moving away from farming

91) Heads of governments of almost all the countries
have decided to take many urgent initiatives to reduce
CO emission since the steps taken so far are not
found to be yielding good results. This shows that

A) There were no steps taken in the past

B) The steps taken in the past were very good

C) The challenge due to CO2 emission is very
serious today

D) There was no challenge due to CO[J] emission in
the past

92) Friendship is important, but choosing the correct
friends is more important. Otherwise, friendship

becomes burden. This implies that

A) One should have many friends

B) Friendship is always good

C) It is better to have no friends if one cannot get
good friends

D) Friendship is always a burden
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93) faeTer T & A FUETART & Fhel & YA% OF &
3 AT § 6 98 FA-G-5F THh UoIHA SR
afafafr & o 39H T § F Jes IR aoTwEA
sR afafafaal v A Toer Tifgul gt
radr §

A) USTHA 3R AR, UgE & AW
HeecdqoT ¢

B) 3+% YUWERY Ug IFEVT F Yd U H A
T .

C) facarem # uregshA sk sIfafdfodt & fag,
3T gfaeT &

D) Y% BT &5 UIeThHA SR Jfararaar H #er
CE

94) U : IEIAT & TAT AGSA Bl & 3IIRT W
gideeer ofem f&ar S =nfgel
& | : g, 3H HRUT 3% gUcATT gl 8l
a&® Il : 6, 38 AR A arer 3y

A) T& | goTaRITe &

B) dw% Il weTaermel &

C) a& | 3R Il gHTEemel §

D) & a a& | 3R & & Il gHTaermer §

95) FUT: WgA-H UsAl H 6 a¥ # Y ¥ FA &
ot @ e 1 & §7df AT fRam ST aehd|
aH | I F OANEEe A R aliReE
faehre gl =ifgul
a®w Il : URMAF auf & S A 39 AR F
1Y gl =ifgvl

A) T& | gaRITe &

B) T Il gsTaeelr §

C) a& | 3R Il gHTEemel §

D) & @ a& | 3R & & Il gHTaermer §

96) YT : FIT TN & HaTW Xl d & Tl s=af &
T sfaerd & &ar anfge?
a& | : o1, sa faegey & fRem & T 7 &
BIgIarel Feal @ UslIR &of aTel 36N T g1
LECH
a& Il : "gl, Ry & Rem 3= @er i1k
ek #fasy & fav 3MUR FardT §1

A) T& | geaRITel &
B) d& Il wsTgermel &

C) a& | 3R Il gHTEemel §
D) & a a& | 3R & & Il gHTaermer §

93) The new Principal of the school has urged each
student in the school to take up at least one extra-
curricular activity. She is of the opinion that studies
and the extra-curricular activities should go hand in
hand. The Principal thinks that

A) Extra-curricular activities are as important as
studies

B) Studies were neglected before she took over as
Principal

C) The school has a good talent in extra-curricular
activities

D) Every student will take many extra-curricular
activities

94) Statement :
should be banned.

Argument I : Yes, it causes road accidents.

Using mobile phones while driving

Argument II : No, it will hamper business.

A) Argument I is strong

B) Argument II is strong

C) Arguments I and II are strong

D) Neither argument I nor II is strong

95) Statement :

admitted to Class I in many States:

Children below 6 years cannot be

Argument I : The child should have the necessary
mental and physical growth.
The child should be with their

parents in the initial years.

Argument II :

A) Argument I is strong

B) Argument II is strong

C) Arguments I and II are strong

D) Neither argument I nor II is strong

96) Statement: Should education be made compulsory
for all children up to Class XII?
Argument I : No, industries employing school
dropped-out children will be affected.
Argument II : Yes, school education forms the basis

for higher education and a better future.

A) Argument I is strong

B) Argument II is strong

C) Arguments I and II are strong

D) Neither argument I nor II is strong
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97) A= & 15 arforr & T & I A Te AT
FFeT W TR HIfer:

6 18 15
4 3 X
3 2

8 27

HIT-AT 3ieh X' & T W oo §7?
A) 1
B) 2
C) 6
D) 3

8) foieeT oAl 7 & HiT-Ar Uk ST 52

@@@@

99) fax (P), (Q), (R), (S) & us AW w&ror Hr
AR gl aa =&F (1), (2). (3), (4) & & Ry
s 7 &1 ugaa fifew, Twd 360 Feior #r

HATAAT &l

S

©
(P) Q) (R) (S)

(1) (2) @) (4)

97) Consider the numbers bearing certain relationship
among themselves along the columns in the table

below:
6 18 15
4 3 X
3 2 5
8 27 9

Which one of the following numbers is the missing
number indicated above by ‘X’ ?

A) 11

B) 2

C) 6

D) 3

98) Which one of the following figures is the odd one?

(1) ) @) (4)

A) (1)
B) (2)
Q) )
D) (4)

99) The figures (P), (Q), (R), (S) have certain common
features. Identify a figure amongst the figures (1),
(2), (3), (4) which has those similar common features.

A) (1)
B) (2)
Q) B)
D) (4)
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100)

A)
B)
C)
D)

101)

A)
B)
C)
D)

102)

A)
B)
C)
D)

103)

A)
B)
C)
D)

AT @d Usg T T FeadR cuor H
gfafees &1 ggaifav

INDORE E

gaoT
INCOYH
Inaoqd
INDORE
ggo0awul

AT NfAT & (i) 3, W @ oeT @ (i)
g 3T F e §; (i) SR, Tg F oeT §,
AR RS F¥ F@r ¢l A 5T FEHT AT
SdIS & AR Jordl Sl §, A HEG T
T FieT F&M?

K L)
HATERT
T

S

2022 HT IOTSH grhr A ALY YU o foha
gar ?

feeer
HERTSET
EEE
faest

T A9 Toha wmwT H, DAM F WzZN forar
Sar &1 38 Hohd 9T # TABLE #T H®
for@r SREm ?

GZYOV
EYXNU
FZXNU
HZANW

100)

101)

Identify the correct vertical mirror image of the

following word:

INDORE E
gqor

A) INCOYE
B) I1@0A4
c) INDORE
D) E40QHI

Consider that (i) Abhay is taller than Bhaskar; (i)
Chandra is taller than Abhay; (iii) Eswar is taller
than Chandra, and Dhiraj is the tallest of all. If they
are made to sit in the above order of their heights,

who will occupy the mid-position?

A) Abhay

B) Bhaskar

Q)

Chandra

D) Dhiraj

102)

E)
F)

Whom did Madhya Pradesh beat in the 2022 Ranji
Trophy?

Delhi

Maharastra

G) Mumbai
H) Vidarbha

103)

J)
K)
L)

In a certain code language, DAM is written as WZN.
How will TABLE be written in the same code?
GZYOV
EYXNU
FZXNU
HZANW
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A AERf@T FFER & 3YR W 92T Ho 104
¥ 107 &7 3cay dfSw]

&l IRAR & 9T Th I AT & IRT R J& T
& @Y & Aedleg of I &1 T T AT 30 TR I &6
¢ T qasr q@ AT & Fog H RSB ¢ 3R Rl off
ar e & el & d/9 H gl THEAs §1 ae
gRERT & faavor =g fear = &:

gRar 1: 3re07 3R IR 37STelr
(afa) (Ie=)  (T9) (GED)

9

gRar 2; 9T CiGI CIrc)

N

qa
(afq)  (deh) T (T

I F ARl F Joo F fFaver feafarad g

o 31%0T 3N HEH S HHAA-THA IS §

o 37T 3N AT S IJHA-AHA IS B

o 37 A F HY Yl T W I B

o HEHT AU Tooll & &1 Glfgell oW JoT &,
o YT AYA-3UA AT & sorer H S g

o UEAT UG- AT & I H I §

104) AF & FIH el T T HieA ST §7
105) o9 & GIfgAT W HieA ST &7

106) T & 8 T & IS AT §
A) drs] 3R 3mer
B) disf 3R &
C) 31%9 3R &er
D) d5] 3R gar

Directions: Answer Question Nos.104 to 107, based

on the following information.

There are two families enjoying dinner around a round

table, facing its centre. The distance between any

neighbouring people is same. The details of the two

families are as follows:

Family 1:  Arun Asha Arup Anjali

(Husband) (Wife) (Son) (Daughter)

Family 2: Bhaskar Beena Biju Brinda

(Husband) (Wife) (Son) (Daughter)

The above people are sitting with the following details:

104)

105)

106)

Arun is sitting diametrically opposite to Bhaskar
Asha is sitting diametrically opposite to Beena
Asha is sitting at the Eastmost position around the
table

Bhaskar is sitting just to the right of his wife

The sons are sitting next to their fathers

The daughters are sitting next to their mothers

Who is sitting at the Northmost point of the table?
A) Biju

B) Arup

C) Bhaskar

D) Arun

Who is sitting to the right of Biju?
A) Anjali

B) Brinda

C) Arun

D) Bhaskar

The immediate neighbours of Bhaskar are
A) Biju and Asha

B) Bijuand Beena

C) Arup and Beena

D) Bijuand Brinda
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107)

108)

109)

110)

e & 81 Scak-qd feem 7 HlaT Jor g2

Th A S drelr 931 # ger, Aeae AR
Uehs &1 et gedr g1 el ggAr 12:00 s
&% THh & FR UH giar gl 12:10 §oF ger
IR s arel oAt & @ FwT HOT fhdd
f3alr g &1

Fae fdeg A W @1 § AR 3HA AT FAR
9eg B W @eT & S ael & &k qd faem &
1 FEe WY 3w e i A gor AR
A gl A% IW AT FAR A dEa H
gt afa & WY gee AREH W ST B
FIT & 5 fhorllo o F aTg, Faa AR
FAR el ThgEy ¥ e Sd g1 A 3R B
SRR

A) 5\3 fFoafro
B) 3\6 faoaflo
C) 2\8 Rporro
D) 3\2 fpoaflo

afg 6x4=12, 7x5=20, 5x8= 21, dd 5x7 = ?

A) 20
B) 18
C) 24
D) 35

107)

108)

109)

110)

107 Who is sitting in the exact North-East direction

of Beena?

A) Arup
B) Biju

C) Anjali
D) Brinda

A circular clock has all the three hands-hour,
minute and second. All the three hands coincide at
12:00 hours. What is the angle, in degrees,
between the hour and second hands at 12:10

hours?

A) 25
B) 2
C) 5
D) 55

Kanchan is standing at a point A and his friend,
Kumar, is standing at a point B, which is exactly in
the East direction of Kanchan. Kanchan starts
walking straight in the North direction. At the same
time, Kumar also starts walking straight at double
the speed of Kanchan. Both Kanchan and Kumar
meet each other after Kanchan has walked 5 km.

The distance between A and B is equal to

A) 5V3km
B) 3V5km
C) 2v3km
D) 3v2km

If 6x4=12, 7x5 =20, 5x8=21, then 5x7="

A) 20
B) 18
C) 24
D) 35
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